
1Êg��ë��Y

14.)µ�A =���i3�½���§KP (A) = 1
500 ,�X��½���þ�i��ê§KX ∼ B(200, 1

500 ), np =

0.4.

(1)�A1 =�½���þ��k���i§K

P (A1) = P{X ≥ 1} = 1− P{X < 1}=1-P{ X = 0}
= 1− C0

200( 1
500 )0( 499

500 )200 ≈ 1− e−0.40.40

0!

=
∑∞
k=1

e−0.40.4k

k! = 0.32968;

½P (A1) = P{X ≥ 1} =
∑200
k=1 P{X = k}

≈
∑200
k=1

e−0.40.4k

k! ≈
∑∞
k=1

e−0.40.4k

k! = 0.3297

(2)�A2 =�½���þØ�Lü��i§K

P (A2) = P{X ≤ 2} = 1− P{X ≥ 3}
≈

∑200
k=3

e−0.40.4k

k! ≈
∑+∞
k=3

e−0.40.4k

k! = 0.9921

(3)�A3 =�½���þTk���i§K

P (A3) = P{X = 1} = P{X ≥ 1} − P{X ≥ 2}
≈

∑+∞
k=1

e−0.40.4k

k! −
∑+∞
k=2

e−0.40.4k

k!

= 0.3297− 0.0616 = 0.2681

18.)µ(1)P{X = k} = e−55k

k!

P{X = 6} = e−556

6! ≈ 0.1642

(2)P{X ≥ 10} = 1− P{X = 1} − P{X = 2} − · · · − P{X = 9} = 0.0318

20.)µ(1)d1 = limx→+∞ F (x) = limx→+∞
ax

1+3x = limx→+∞
a

1
x+3

= a
3 ,�a = 3.

dF (x)3x = 0?mëY§�b = F (0) = limx→0+ F (x) = limx→0+
ax

1+3x = 0.

u´ F (x) = {
3x

1+3x ,x>0

0, x≤0

(2)df(x) = F ′(x),�f(x) = {
3

(1+3x)2
,x>0

0, x≤0

23.)µ(1)d

1 =
∫ +∞
−∞ f(x)dx =

∫ +∞
−∞

a
ex+e−x dx = a

∫ +∞
−∞

ex

e2x+1dx

= aarctanex|+∞−∞ = a · π2 ,�a = 2
π

(2)X�©Ù¼ê�

1 =
∫ x
−∞ f(t)dt =

∫ x
−∞

a
et+e−t dx = 2

π

∫ x
−∞

et

e2t+1dt

= 2
πarctane

t|x−∞ = 2
πarctane

x (−∞ < x < +∞).

(3)P{0 < X < ln
√

3} = F (ln
√

3)− F (0) = 2
π (π3 −

π
4 ) = 1
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27.)µ�âK¿§X�VÇ�Ý�

f(x) = {e
−x,x>0

0, x≤0

� A =�§Ã¢�= {(2X)2 − 4× 1× (−X + 2) < 0} = {(X + 2)(X − 1) < 0} = {−2 < X < 1},
K P (A) = P{−2 < X < 1} =

∫ 1

−2 f(x)dx =
∫ 1

0
e−xdx = (−e−x)|10 = 1− e−1 = 0.6321
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33.)µÚS��ÝX ∼ N(20, 0.12)§�A =�ÚS�Ü�¬§K

P (A) = P{|X − 20| ≤ 0.3} = P{|X−200.1 | ≤ 3}
= Φ(3)− Φ(−3) = 2Φ(3)− 1 = 2× 0.9987− 1 = 0.9974

35.)µdP{X < −1} = F (−1) = Φ(−1−µσ ) = Φ(−1)

P{X ≥ 3} = 1− P{X < 3} = 1− F (3) = 1− Φ( 3−µ
σ ) = Φ(− 3−µ

σ ) = Φ(−1),

�−1−µσ = −1,− 3−µ
σ = −1§�µ = 1, σ = 2.

37.)µ(1)P{X ≤ σ} =
∫ σ
−∞ f(x)dx =

∫ σ
0

x
σ2 exp{− x2

2σ2 dx}
=

∫ σ
0

[−exp{− x2

2σ2 }]′dx = [−exp{− x2

2σ2 }]|σ0
= 1− exp{− 1

2} = 0.3935.

(2)P{X > 2σ} =
∫ +∞
2σ

f(x)dx =
∫ +∞
2σ

x
σ2 exp{− x2

2σ2 dx}
=

∫ +∞
2σ

[−exp{− x2

2σ2 }]′dx = [−exp{− x2

2σ2 }]|+∞2σ
= exp{−2} = 1

e2 = 0.1353.
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